Subject: ladfit: unstable for large x?
Posted by wmconnolley on Mon, 25 Nov 2002 18:33:36 GMT

View Forum Message <> Reply to Message

Has anyone out there used LADFIT (least-absolute fitting). It works fine for
me with "small" x (say 0-100) but if x is large (say dates: 1951-2001) it
produces rubbish. Simply running it with x-coord x-x(0) is a perfectly

good fix but it caused some head-scratching before | realised this. This is
independent of /double.

-W.

William M Connolley | wmc@bas.ac.uk | http://www.nerc-bas.ac.uk/icd/wmc/
Climate Modeller, British Antarctic Survey | Disclaimer: | speak for myself
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